’- o i : Rante ité —U.' ist Tensl Tension Résistance | Résistance 2 s
cc2 3 35 | 13(0,2) BF  |250 g = = 5,5 800 | 12.000 | 2,5
! BF 100 2 — — -2,5 | 1.280 | 16.000 | 1,8
' CCH2 37V | B85 |29(0,2) (e 200 | 3,25 — 100 |-2,8-3¢ | 140 | 1,5MQ | 0,75
c 1004 = - 1005 e 140 (o0z7MQ | 0,75
: C/EM2 3 52 16,3(0,2) I 250 | 3,5 2 MQ 250 - — = -
CF1 5 42 | 13(0,2) HF 200 3 e 100 -2 500 [ 17MQ | 23
HF 100 3 = 100 -2 500 | 0,6MQ | 2,3 !
| CF2 5V § 42 [ 13(0,2) HF 200 | 453 = 100 -2-22 300 |14MQ | 2.2 i
i HF .[100 | 45 - 100 -2-22 9300 | 0,4MOQ | 2,2 s
CF3 5V 42 | 13(0,2) HF  |200 B 100 | 355 | 300 |09 MQ | 1,8 e
HF 100 8 100 -3-55 | 300 |0,25MQ | 1,8 Sp
CFT 5 42 | 13(0,2) HF 250 | 3 = 100 7 500 | 2MO 2,1
‘ - HF 100 | 3 e 100 25 500 | 0,7MQ | 21
BF 200 | 0,3 0,2 MQ 100 -1, 804 000 ) = =
! BF 100 | 0,18 | 0,2MQ 100 -0,7 | 4.000 — =
CHi | 6V 45 113(0,2) c 200 | 2,2 = 100 -2-24 | 300 2MQ | 0,85 |Moduiatrice
; ; Cc 100 | 2 = 100 224 | 300 (05MQ |0,55 {Modulatrice
( HF 200 | 4 = 100 -2-24 | 800 2MQ |2
? | HF 100 | 4 — 100 -2-24 | 300 |15MQ |2
CK1 8V 491302 | C 200 | 1,8 = 80 -1,5-25 | 280 |1,5MQ | 0,60 S
(o] 100 | 1,8 — 90 -1,5-25 | 250 1MQ | 0,88 72
CK3 8V | 49 |22(0,2) c 200 | 2,8 — 100 |-2,5-38 | 200 2MQ | 0,65 |Oscilatrice
} ; c |10 | 25 3 100 |-2,538 | 200 [0,8MQ | 065 |oseuateioe
CL1 8 [ 41 !13(0.2) | P(2,8) (280 | 32 7.000 250 | -19 840 | 48.000 | 2,8
, | ; P(1,7) [200-| 25 8.000 200 -14 810 | 50.000 | 2,8
| | i !

Qé;



